‘Warm-ap

Read the following passage. Then
use the information in it to number the
diagram below and to label it with the
words in italics.

As a result of technological pro-

gress, many people in the world al-
ready have, or will soon have, access
to many more TV channels than in the
past.
As you can see from the illu-
strations, there are now three ways in
which TV programmes can reach your
‘home with the one way
which existed until a few years ago:

1) Most of the TV channels in the
world operate in the traditional way:

similar to the way radio broadcasts
‘work.

2) Some international TV chan-
nels use satellites in space. Pro-

them
10 a wide geographical area. If you
have a special satellite dish acrial on
your roof, you can receive these sig-
nals — though usually you have to pay
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